Product: Front Coilover Conversion Bump Stops
Part Number: JKS2512

INSTALLATION only
INSTRUCTIONS

J

Applications: Wrangler, JL 2018-19 Coilover Kit

517-278-1226 + jks@ridefox.com ¢ www.jksmfg.com
491 W. Garfield Avenue, Coldwater, MI 49036

Welcome

CONGRATULATIONS on purchasing a set of Bump Stops
got your front coilover conversion from JKS Manufacturing.
We are committed to providing you with the best products
available and your satisfaction is our first priority.

PLEASE READ these Installation Instructions carefully,
and save them for future reference, as they contain impor-
tant installation and maintenance information.

Important

Tools Required

Q Standard Allen Wrench Set

QO Torque Wrench

* Asterisk denotes tools that are not required for some applica-
tions. Thoroughly read instructions first to determine which tools
will be required for your application.

Parts
Description QTY

A Front Coilover Bumpstop Bung 2

B Bump Stop 2

C Cap 2

D 3/8"-16 x 4" Socket Cap Bolt 2

Installation
1. INSTALL BUMP STOP

O Place the cap onto the top of the bump stop tube
on the front coilover frame bracket

O Take the 3/8" socket cap bolt from bolt pack J147
and put it through the bump stop than the bum
stop bung.

O Place loctite on the bolts threads and insert the
assembly into the bottom of the bump stop tube on
the front coilover frame bracket.

QO Tighten the bolt with a 5/16" Allen wrench. While

using a 3/8" Allen to hold the cap. It will screw into
the cap. Torque to 20 ft-Ibs.



Maintenance

Regular cleaning with pressurized water is recommended.

©2020 JKS Manufacturing, Inc
Revision Date 2/28/2020

2 Page JKS2512 JKS Adjustable Bump Stop Installation



